Question: What is the firing speed of the ballistic pendulum? 

Data: 

Mass of the catcher= 116g= .116kg


Mass of the ball= 68.7g= .0687kg


Δh = 11cm = .11m
Conclusion: 
m1i= .0687kg

m2i= .116

v1i= bullet velocity inital

v2i= block velocity inital

vf= velocity right after the colision

h= .11m

v1i= (m1+m2)*vf/m1= (.0687+.116)*vf/.0687

.5(m1+m2)*vf^2= (m1+m2)gh   => vf=sqrt(2*g*h) = sqrt(2*9.81*.11)~=1.46908

v1i=3.9496m/s

Follow up: Describe an experiment you could conduct to test your calculation?


Use a Projectile motion lab with a horizontal firing velocity, and measure time and distance.
